CKD New Products  #iER |
REE YR
GCVE2%7%I (m&h3) - 72
GCVSE2%7I (ZHAEELR) |-

MODULE COOLANT VALVE GCVE2/GCVESE2 SERIES

= IE (L ERIE © xﬁg'ém@
EmiazEE g - ﬁuﬁ15~40A ouTfLOO&

| B ECEFTSE LIS | AJEEERIGERE
MEE(E TR 208 « IBAESE « B4 IE0E —E A AR FENAEEASE
. _ (BAEEAE5E )

| &2ZCR5 - EHEIS =

SRR RSB E B IR | {EEEIE

TSR IR R IRfEHE
| ZiBh[EE1.6MPa ( ~25A)
NGEEZ it ESEEE 205 1.0 - 1.6MPaiiig

| RESIR(EF IR 214
FEfi BIBIZIR R EIL (L20A~40A)

CKD Corporation

CC-1491T



REE D H RS

GCVE2 - GCVSE2 series

O NC (%) 8 NO (FFH) &
@ =E 04 Re1/2 ~ Re3/4 ~ Re1 ~ Re1 1/4 ~ Re1 1/2 (OUTH,.O)

JISECER
@ GCVE2 (REA)
: NC&!
Ol.JT
I

X

IN

@ GCVE22 (‘mEhE)

* NO#!
. ouT
Y.
[ T
IN
@ GCVSE2 ( EWRIACER! )
* NCE!

P OL.JT
=5 f [
T

IN

@ GCVSE22 ( EHMficER )
P NO#!
P ouT

=,

CKD

@ (£EX0.5MPa ~ 1.0MPaFs ~ H[E1.6MPaf @

saE
» " o5MPa_ | 10MPa_ | 16MPa |

IR

ESFR NC (EE8) §!|NO (=) §E|NC (=r) i"lNo (=r8) ’ﬂlNC (=r) i“lNO (=pg) 8

ERReE YH% « HthEEeht 2 %8E (%1)

TRBERLE mm?%/s 500LLF

EREhD MPa 0~0.5 0~1.0 0~1.6

TREEA (7KEE) MPa 2.0 2.0 6.0

REERE °C —10~60 (ERfEE)

RIERE °c —5~50

5] cm’/min 20LLTF (LAZKEERISRS )

ZEAR =

5|E5hEe ok

5|EE S MPa 0.25~0.7

X1 AEHEE (1)  THE - THREBAR BB ERTEZRE

ERRE (EHAERER « HARE)

EEERE AC100V(50/60Hz)-AC110V(60Hz) + AC200V(50/60Hz)- AC220V(60Hz) + DC24V
FRENER (A) AC100V : 0.068/0.054 ~ AC200V : 0.034/0.027 ~ DC24V : —
RIFER (A) AC100V : 0.041/0.032 » AC200V : 0.021/0.016 ~ DC25V : 0.075
. i AC 2.2 (50Hz) ~ 1.8 (60Hz) <PffEERIE> 2.4 (50Hz) ~ 2.0 (60Hz)
HIEDE (W) DC 1.8 <KigERE> 2.0
[REAE S 248130 (B)
ﬁéﬁﬁ% (IEC#1£529) IPX5

TS E)HENAEETEEN £ 10%L5 o
0.5MPa i #£1E BIFRIE
E B ] BEOE AE | g | 38 BE (kg) X3
HeTERYER ouT#O| INFLO | (mm) EZE O [ GCVE2 (2) [6CVSE2 (2)
GOVE2 (2) » GOVSE? (2)-[E8]-15-05 | Re1/2 Rc3/4 1.0 1.2
GOVE2 (2) + GOVSE2 (2 Rc3/4 Rc1 19 10 15 1.7
GOVE2 (2) + GOVSE2 (2 Rc3/4 13
GOVER (2)  GCVSE (2 Ro1 | 1172 24 16 Re1/8 3.7 3.9
GOVE2 (2) » GOVSE2 (2 Rc1 1/4 31
GOVE2 (2) ~ GCVSE2 (2) - Rc1 1/2 Re2 40 37 57 59
1.0MPaF #FE B #R1&
E B | BEOE A® | g | 3I® BE (kg) %3
HeTERYER ouTFO| INFLO | (mm) EZE O [ GCVE2 (2) [6CVSE2 (2)
GOVE? (2) » 6OVSE (2)-[E8]-15a-10 | Re1/2 Rc3/4 1.0 1.2
GOVE2 (2) + GOVSE2 (2 Rc3/4 Rc1 14 6.5 15 1.7
GOVE2 (2) + GOVSE2 (2 Rc3/4 9
GOVER (2)  GCVSEZ (2 Ro1 | Re1172 17 10 Re1/8 3.7 3.9
GOVE2 (2) ~ GOVSE? (2 Rc1 1/4 23
GCVE2 (2) + GOVSE? (2 Rc1 1/2 Re2 2 25 57 59
1.6MPaF #7E B #R1&
BEOE Ag | g | 3® & (kg) X3
HeTERYER OoUuTF.O| INFLO (m ) EZE O [GCVE2 (2) [6CVSE2 (2)
GOVE2 (2) ~ GCVSE2 (2) Rc1/2 Rc3/4 1.0 1.2
GOVE2 (2) ~ GCVSE2 (2)- .—ZOA | Rc3/4 Rc1 1o 5 15 1.7
GOVE2 (2) ~ GCVSE? (2)- @-LzoA | Redd [ oo 13 6 Rel/8 37 39
GCVE (2) » GOVSE2 (2) -[EBJ25A-16 Rc1 ¢ 6 : :

X3 ERFITEEAB—EZER - REESZHESEDMLBZES X EH -



GCVE2 M GCVSE2 Series

BERIRTR T A
BISRIR AR

® zmz
GCVE2)(2)-(2)-(15A-(05)-(0)
TR ER
1 GCVE2|GOVSE2
OEHEAR
ei’ffﬁﬂ WIZE  NC (P) & ® o
| 2 NO (¥R) B ® o
o O HEEN
i A |12 #Fw oo
o i B |18 manm oo
HIEE © AR  BAFLE - 2 |28 o o
BEANHERIARE - 3 |k LR
BEMEIE - N LA J
5 55& o o
- - OEENE (ouTALOOE)
[ e e
ngu& outAOneE) 15A  |Rc1/2 (IN ZLOOER Re3/4) o0
' 20A Rc3/4 (IN FLOO&EA Re1) [ BN )
L20A |Rc3/4 (INFLOOEA Rel 1/2) o0
25A  |Rc1 (INFAOORE Rel 1/2) oo
32A  |Rcl 1/4 (INFLOOES Re2) oo
40A  |Rc11/2 (INFLOOES Re2) o 0
OfEREA
@Efﬁﬁ 05  |0~0.5MPa o0
’ 10 0~1.0MPa e o
16 |0~1.6MPa oo
g . T EES
N oin sunmes K ECILLD I
GCVSE22-5-20A-10-02HS-1 o 2% |5 (E8R) | THER | O
1%& : GCVSE2 ! ERRIEER B RES (|BE (2E) ;e ® O
BEHT :NO (%B8) &
OsEER | 5@ YT (FF-1) e
QizEnE : Re3/4 (OUTZO) TX8 26 |HIDIN#F% (Pg9) hd
O ERESH : 0~1.0MPa 2H BfDINt# 7 FHIBERIE (Pg9) o
@ THMEHES : iﬁ:‘;ﬂ:%ﬂ%&ﬂ%fﬁ) . 2J MIDINIHF58 (M12-4PiERESR ) o
@B : B?;E‘INQ#‘E;%EB{;EET-&“ (Pg9) 2K FIDINSmFFEFIBERIE (M12-4PiEHEER) o
1K [ = P JER /NS
© HitiErE s T SRR BR 2 O LitEms © HithiRBB M
B : AC100V (50/60Hz) o | ER® |mEme o0
ACT10V (60Hz) 10 s |MumERE °
X1 : ENRGCVE2RGCVSE2Z RS MEARELE - HI5 xn B___[MRER o.®
SEAAATE - QE-E
%2 BEST (OF) ZRSEERBEAE HEHLNA O zEdal
AT - AC100V (50/60Hz )
o iiﬁgﬁt—fxﬁ) ZRABABEELE HEEANEA 1 ACT10V (60Hz) *
X4 : /J};? EEIRMEAZEERE ' F18:8/A4 , AC200V (50/60HZ) °
X5 | AADELERES () BAMEZ RN - AC220V (60Hz)
X6 BEEEORB32A ~ 40ARF - BIEXEE0~1.6MPa
(@E16) - 3 DC24V °
X7 1E2) (@I8) TEMMERERBEE -

X8 ¢ 1RE2K (@IH) {EE M ZRIERERE » FEFRA2KS °

X9 EERE2GHE (@) K BRFRMIRIEREE - (2HE
REBERTTHF © )

%10 © REM (OIEB) EAEREMI5A » 20ARIZENOR - R
WRMRERBES -

X111 NFEFEEFBNERERRMRERRIDERESR  BH5OCE
1ERASB -

CKD



GCVE2 M GCVSE2 Series

@ RFHHERK

O FEMFAEFRAOMERHEBEER - L BRAUANEBEBRINUEENAR
FEEFAKEA © 12 EURB © BRAFLEEA -
BEHZIBAMTERR -

=1

TRl

=

B:E@fE

o RIS

=

=

B:E#AE A:EFE B:E&EAHB

oL RIeT

=

B: E#FBA I IRFE B E@FE B BBHE

Rl

B[

=

=

=

=

23E
1
A HEEFRY
3E U T
1=
438 o=
1=
5& ()
=
@ EL R

ET BB EY SR

B:E®f% B: BRI A EFE B: BERIE B: BBAE

OFIBHH /B

FTEREYSR

EETEE

OBt E /Bl

GCVE2-15A-50-0-JOINT-KIT | M8X50 M8 TG /118 GCVE2-25A-85-0-JOINT-KIT M12X85 | M12 TG /118
GCVE2-20A-60-0-JOINT-KIT | M8X 60 M8 THEgRE 1@ GCVE2-40A-110-0-JOINT-KIT [ M12X110 |M12 THEgRE /1@
GCVE2-15A-50-B-JOINT-KIT | M8X 50 [V E g 118 GCVE2-25A-85-B-JOINT-KIT M12X85 | M12 B2 118
GCVE2-20A-60-B-JOINT-KIT | M8X60 M8 22, 11E GCVE2-40A-110-B-JOINT-KIT [ M12X110 |M12 222 11E
GCVE2-15A-100-0-JOINT-KIT | M8X100 |M8 THEIRRE /218 GCVE2-25A-170-0-JOINT-KIT [ M12X170 |M12 THEIgRE /28
GCVE2-20A-120-0-JOINT-KIT |M8X120 |M8 THEIgRE /218 GCVE2-40A-220-0-JOINT-KIT [ M12X220 |M12 THEIgRE /2@
GCVE2-15A-100-B-JOINT-KIT | M8X100 |M8 U, 2ME GCVE2-25A-170-B-JOINT-KIT [ M12X170 |M12 R 2(E
GCVE2-20A-120-B-JOINT-KIT |M8x120 |M8 B, 2(E GCVE2-40A-220-B-JOINT-KIT | M12X220 |M12 FAZE 28

XiEe - BENHESH2E -

WAZ! (825 E) RBE (BE@FLE) Z#BlAE

@ OUTF OMESFERZ I TRMBH AR -

HHEH

CKD

&

A REFEY

BEA

N

B: B#@FlE




RBFEERTH—E

GCVE2 M GCVSE2 Series

@ GCVE2—[EH|—-[O—05- 10+ 16

@ GCVSE2-[EH|-[O%&-05-10 - 16

@ 1Eif

AEBFEIEE
GCVE2
EEIEED
1 RELEE ADC12 $RIEREE
2 BE SWP tHEg
3 EE A2017 b
4 g% SUS303 BNk
5 SEERR SUS304 B
6 RgeE SUS420J2 B
; ES: | FCD450 $&eE (BE)
523 SUS420J2 B
THE12R2
8 oI NBR (FKM
# ( ) (51g1)
THE2E2
9 SEERYE NBR (FKM
EEIZEE ( ) ()
GCVSE2

1

5| G EHR

2 RELEE ADC12 $RERSE
3 SEE SWP $HEEMe
4 EE A2017 3
5 e SUS303 T ifsE
6 JRER SUS304 Py F|
7 Sk SUS420J2 ]
8 eS| FCD450 B (E8|])
523 SUS420J2 P s
THE12E2
9 (0% NBR (FKM
PR (FKM) i)
THE12E2
10 SEERRE NBR (FKM
EEIZEE ( ) (ISR
11 RNAIER SCM435 5
THE12E2
12 (0% NBR (FKM
® ( ) (mgR)

CKD



GCVE2 M GCVSE2 Series

IMER~TE
@ GCVE2-GCVE22-15A-20A @ GCVE2-GCVE22-L20A~40A
H 14.6 H 14.6
2-Rc1/8 o
B
2-M8 iE17.5
[ RIRIEIR AR
w
w & N -
ey U
> . o K
K N ) a
a I~ 2-J o
o
2-J c A G 2
A G 1
BB 13 BB 20
8-M8 E10
2-M6 ;&8
XNCE5| BB OAXFL O - NOEAIAYFO -

e | A B | Cc | D |

_F |G |

L3 K

GCVE2(2)-15A-05-10-16 69.5 44.5 29 20.5 72 110.5 50 38 Rc3/4 Rc1/2 20
GCVE2(2)-20A-05-10-16 78.5 50 35 25 85.5 128.5 60 415 Rc1 Rc3/4 30
GCVE2(2)-L20A-05-10-16 Rc3/4
GCVE2(2)-25A-05-10-16 122 80 43 40 115 173.5 85 45 Rc1 1/2 ReA 45
GCVE2(2)-32A-05-10 Rc1 1/4
GCVE2(2)-40A-05-10 122 80 61 40 159 217 105 61 Rc2 Rel 1/2 60
@ GCVSE2-GCVSE22-15A-20A @ GCVSE2:-GCVSE22-L20A~40A
65 H
H 65
D)
“’| Rc1/8
57 =
€
2-M8 ;F17.5
RIRIEZ IR
w |
‘ (D
~ RIS
a
2-J
c
A
C G 2
2-J A G 1 BB 20
BB 13 8-M8 ;FE10
2-M6 ;E8 & "/
n
o | o] mI
e

gk | A | B | ¢c | o | e | F [ 6 [ H | J | K | BB |
GCVSE2(2)-15A-05-10-16 | 69.5 44.5 29 20.5 75 179 50 62 Rc3/4 | Rcli2 20
GCVSE2(2)-20A-05-10-16 | 785 50 35 25 89 197 60 65 Rci Rc3/4 30
GCVSE2(2)-L20A-05-10-16 Rc3/4

GCVSE2 () 25A 081016 122 80 43 40 119 242 85 69 Ret 112 [— 45
GCVSE2(2)-32A-05-10 Rcl 1/4

122 1 4 162 2 1 4 Rc2
GCVSE2(2)-40A-05-10 80 6 0 6 85 05 8 © Rel 1/2 60

CKD



SMERSTE

GCVE2 M GCVSE2 Series

SMERE

@ 1%id

@ GCVSE2-GCVSE22-15A-20A

1 R E2RER

n-M6 %8

@ GCVSE2-GCVSE22-L20A~40A

16l

I

n-M8 iE10

BB CC

CC BB 20 2

35
e

(
\|

am[ M e | ___o____| lwaka
mmmm x

BER 2
2% 100 120 170 210 20 30 45 60 30 40 45 4 A+B
3 150 180 255 315 20 30 45 60 30 40 45 6 B+A+B
45E 200 240 340 420 20 30 45 60 30 40 45 8 B+A+B+B
558 250 300 425 525 20 30 45 60 30 40 45 10 |B+B+A+B+B
M ZEBRIMERTE
@ LR #E iR
GCVE2 + GCVE22 o SRETIRTE
—15A » 20A— % 3X%B =
GCVSE2 * GCVSE22
S1iE -25E -3
J_‘L I
Oh
D g \ D \JJl\.) S )
& 39.5 25| 36.5 39.5 |25 |25 | 25| 36.5
50 (495)  (465) (495) (35) (465)
-43E -5
& 4 & 4 & 4 & 4
395(25| 75 |25|365 39.5 |25 125 25365
(39.5) (95) (46.5) (49.5) (155) (46.5)
¥ () AFPRRTAOUTFH OEEOEAE20AR ZH1E

CKD



EEEEM

XEANREREZAIE  FHAAAQE -

| E&tE8 (L20A~40A) | | BaEl (EEme) | | EHSW (CPD) %t

BRLZ24 _ .
ERlTE - E5 - EERIR

ERFEBUFRRMERBERZH "TREEHMERSEE ) (2$#No.CB-03-18) FTI&R
EREEEE-

>

EBLEEEE : B854 %R (GCVE2 » GCVSE2) |
=K - BE - SER

1. B0&
ATFE
m B ENEE L RAE -
EEATET ARG RE T LS A -
m FFHESSERREES  BE BAAAERBKETRUETHETESE -
1ELREEy - BREROMIBETORE  URHANETHEHRA » BFUET -
SRR o SBARDERN LT AR - BITEA

EERA AR BREEHRN

M8 30~36N-m
M12 43~52N-m

The goods and/or their replicas, the technology and/or software found in this catalog are subject to complementary export regulations by
Foreign Exchange and Foreign Trade Law of Japan.

If the goods and/or their replicas, the technology and/or software found in this catalog are to be exported from Japan, Japanese laws
require the exporter makes sure that they will never be used for the development and/or manufacture of weapons for mass destruction.

LEEEERGERAT - o - s

24250 FitmEEEHILRE=ERT3R161823 74148 AT RS EE B D ER65E31EB3B01
Website: https:/iwww.ckdtaiwan.com.tw/ TEL: (02)-8522-8198 FAX: (02)-8522-8128 TEL: (06)-599-0610 FAX: (06)-599-0800
o o FTTEEEERT o SRR
@ LN RAIBR  ABIGR FRREAIERHIER 30072 MR EAER11857191822 80765 m i = REJLAI—E85025%1318A5
SN AER T - R BT BUSEIAR o TEL: (03)-577-0670 FAX: (03)-577-0673 TEL: (07)-380-1816 FAX: (07)-380-2806
(©CKD Corporation 2020 All copy rights reserved. o AFREAT i
£ B B (3 A IR A FI2020AERT A © AreT BPTIE LR gagse s

TEL: (04)-2359-6902 FAX: (04)-2359-6903
04) 04) 2020.5




